PR ERR

EXFEEREEBARS

HERABESAREE EHES

zF 1 EFFE  JX3F JX2F  X1F
R F—L AEES i@ 800m 1500m 100mH 4x100mR E=Bk TE BB Rtz k25 800m  4x100mR  100m 100m 100m
200m
1 JerE 114 7 3 5+7 8 6+5 6+7 8+7 5+4 2+1 3 6+7 7+4 4+2
2 KR 66 8 8+4 4+1 4 3+2 5+1 6+4 2+3 4 1 6
3 B 61 4+8 6 7 8 1+2 1 6 2 8+3
4 fiasli k=1 40 5 6 7 1 5 8 5+3
5 B 38 3 3 4 3+4 5 5+2 7+1
6 PARIL 37 4+6 7+1 1 4 5 6
7 L 29 6+3 2+6 5 2 4 1
8 EME 19 142 3 2 3 8
9 N 15 1+7 5 2
10 A 8 8
11 55 5 5
12 [E1E 4 2 2
13 A 3 3




PR ERR

REXPERREHRERE

HERABESAREE EHES

= " oy ?'ﬁ,%ilz3 ?ﬁéiIZZ ?i%ilZl
B F—L AEES 800m 1500m  100mH 4x100mR E=BF  EmEEk  fahx
i@ 800m  4x100mR  100m 100m 100m
200m
1 Al 96 T+2 3+5 6 2+4 7 2+6 4 2 7+6 5 5+7 7 3+6
2 AmEm 68 145 4+1 5 3+4 6+7 7+4 4 2 3+5 5
3 g 65 8 8 2+3 3+5 8 1 2 1+5 8+6 1 1
4 #KHE 53 6 6 5 3+8 6+8 8
5 Al 50 4 2+7 5+7 1 1 1+3 8+5 2 2 2
6 = 49 3 4+6 8 4 6 4 1 4+1 7
7 AE 21 1 3 8 3+2 4
8 EhES 15 2 5 1 3 4




PR ERR

HXPERRERBARS

HERABESAREE EHES

T 3F 26 1% 1% BEFF
Bz F—L4 HEFER HE 800m 1500m  100mH 4x100mR E=Bk  EmEEk  fEhx A% 100m 100m 100m 800m  4x100mR
200m
1 [EIF 64 2+3 1+5 543 2 2+1 3+4 2 1+2 445 447 443 1
2 L% 42 5+6 4 342 4 2 1 4 1 2+5
3 JR 33 4 6+3 2+1 3 2+6 3+2 1
4 RIg 27 1 247 1 1 3+1 5+6




PR ERR
PREXFPEREEBAR
HERABESAREE EHES

T 3F 2% 14 14 ESF
gtz F—L4 &R KB 800m 1500m  100mH 4x100mR E&B  EfEpk  fhx  AEER 100m 100m 100m 800m  4x100mR
200m
1 BEZE 14 2+1 2 1 2+3 2 1
2 & 12 2+1 1+2 1 1 1 2+1




TFFPRMRBARR
RAXFZEMEHRETRE

HEREESHRNEE LHRS

ZF 3% 2% 1€ 1% BRE
J[E¢va F—L BEEA HE 800m 1500m  100mH 4x100mR ESBk  Ef8Bk  mEiik FAEH% 100m 100m 100m 800m  4x100mR
200m

1 ~<H 11 1+2 1 1 1 1 2+1 1




